Max. Marks: 80

APEEJAY COMMON PREBOARD EXAMINATION
SESSION 2023-2024
Class- X
Science (086)

Time Allowed: 3 hours

General Instructions:

I
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111,

This question paper consists of 39 questions in 3 sections. |

All questions are compulsory However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questons.

Section A consists of 20 objective-type questions carving 1 mark each.

. : . ' : : : vers
iv. Section B consists of 6 Very Short questions carrving 02 marks each. Answe

to these questions should be in the range of 30 to 50 woids.
Section C consists of 7 Short Answer type questicus carrying 03 marks each.
Answers to thesequestions should be in the range of 530 1o 80 words

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each.

Answers ro these questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks

Q. No

|
L

each with sub-parts

SECTION-A

Select and write one most appropriate option out of the four options given for
each of the questions 1 - 20

Questions Marks
Black coating of copper oxide on copper can be remove.d chemically by passing ]
hydrogen gas over copper oxide. The metal turns brown because
a) Hydrogen is removed by oxygen

b) Hydrogen is added to black oxide
c) Oxygen is removed by hydrogen
d) Oxygen is added to black oxide

A metal is heated with dil T1,SOs. The }
: . gas evolved is collected by th t *
in the figure. Identify the correct method of . Al

collection of gas from the following:

a) Upward displacement method

b) Downward replacement method

¢) Downward displacement method
d) Upward replacement method

-Displc.:l::mr. nt

The difference between the number of m

: olecules 1ata o .t m e
gﬁ'glm and calcium sulphate hemihydrate is s ofwater of erystallization in |
a) 5/
b) 2
c) 3/2
d) ¥

Aarav spills few drops of a concentrated acid accident

Would you suggest so that he is relieved from pain? allv over his hand. What ]

1
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¥ il | ‘I'I 2 i # i
ih saline solub water and apply i paste ol sodium

A hands w
n) 1o Wi cchintely with plenty ol

Iy) to wash lands mmm

hydiopen arhonale
¢) 1o wash hands with plent

) to wash lands with sanitl

i ation of sodium hydroxide
y ol walcer, and then apply sol

FAH |

it . e (G ner chanpes would
Above lipure shows heating ol Blue Vitriol. Which of the following chang

he observed?
1A white coloured restdue is lell hehind in the test tube,

I Water droplets are observed on the uppet cooler part of the test tube.
T, Restdue that is produced reacts with anr and changes to green colour.
a)  Land 11

) and HI

¢) land N

d) LoHhand HI

O Whit would be the atomic number of an element that fTorms a basic oxide I
a) 7
hy 17
NERE
d) 1
7 What 15 the mole mtio of the pascs evolved in the electrolysis of water? I

a) 32 at Anode and Cathode respectively

) 21 at Cathode and anode respectively
el at Anode and Catfidtle respectively
' d) 200wt Anode and Cathode respectively
8 Identily the parts marked as *A7, "B Chand "D, I
:"!‘ "‘:
AT

B~(EP )~ A

7 ﬁﬁ,’r?‘\
i . i

‘) *i:.. ! ';’ \\
1 ‘ \k' ‘f\ [

' 1\ / A
\_:_:_f_r;:.;:q.__r; )
/EEETN

ol s do of heant Lot sqia o et
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a) A:Artery B: Vein C: Atrium D: Ventricle

b) A: Aorta B: Vena cava C: Pulmonary Artery D. Pulmonary Vein
¢) A:Pulmonary vein B: pulmonary artery C: Vena Cava D: Aorta
d) A: Pulmonary artery B: Pulmonary vein C: Aorta D: Vena Cava

.'i
——— o
.-"f --_r ...'r {% "'-.:
— -.r; e

a) ‘4’ is a common passage for urine and spermatic fluid in males.
b) ‘2’ possesses tiny filtrating units.

c) ‘37 stores the urine temporarily.
d) ‘I’ reabsorption of water takes place here.

Which of the following statements about the transmission of the nerve impulse are
correct?

(1) A nerve impulse travels from the dendritic end towards the axonal end.

(11) At the dendritic end, some neurotransmitters are released for transmission of
nerve impulses.

(ii1) The neurotransmitters released from the axonal end of one neuron cross the
synapse and generate a similar electrical impulse in a dendrite of another neuron.
(1v) A neuron transmits electrical impulses not only to another neuron but also to
muscle and gland cells.

a) (i) and (3i1)

b) (i1) and (iv)

c) (1) (1) and (1v)

d) (i) (i) and (v)

Guard cells (1) and stomatal pore __ (2)
into the guard cells. o

a) 1 shrink 2 closes
b) 1 shrink 2 opens
c) 1 swell 2 opens

d) 1 swell 2 closes

when water flows
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rhﬁ‘ diagram shows human excretory system. Choose the incorrect option from the
choices given below.
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13
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16

17

Two pea plants one tall with round seeds (TTRR) and another a short plant with ‘1

wrinkled seeds (ttrr) seeds produce Fl progeny that have tall and round seeds (TtRr)
seeds. When F1 plants arc self-pollinated, the F2 progeny will have a new
combination of characters. Choose the new combinations from the following

(i) Tall Round (11) Tall Wrinkled (111) Short Round (1v) Short Wrinkled

a) (1) and (1)

b) (11) and (iit)
¢) (11) and (1v)
d) (1) and (iv)

‘n’ number of resistors, each of resistance R, are first connected in series so as to
give an effective resistance R.. Subsequently, these resistors arc connected In
parallel so as to give an effective resistance Rp. Then the ratio Rp:Rs will be

a) n:l

b) n?
c) I:
d) I:

'
.
n

What will happen to the current passing through a conductor if potential difference

across it is doubled and the resistance is halved?

a) Remains unchanged
b) Becomes double
c) Becomes halved

d) Becomes four times
The amount of energy at the fourth trophic level is 5kJ in the given food chain. What

will be the amount of energy available at the second trophic level?
CARROT = RABBIT - FOX = LION

I

a) 5000 kJ
b) 50 kJ

c) 5500 kJ
d) 500 KJ

In the following Food Chain if a grasshopper is eaten by a frog, then the energy

transfer will be from:
Grass —> Grasshopper => Frog =—=> Snake ™> Hawk

a) producers to decomposers

b) producer to primary consumer

c) primary consumer to secondary consumer
d) secondary consumer [0 tertiary consumer

Q. no 17 to 20 are Assertion - Reasoning based questions.
These consist of two statements — Assertion (A) and Reason (R). Answer these

questions by selecting the appropriate option given below:
(a) Both\ A and R are true and R is the correct explanation of A

(b) Both A and R are true and R is not the correct explanation of A
(¢) A is true but R is false

(d) A is False but R is true '
Assertion (A): The correct procedure for diluting an

not water to acid.
Reason (R): Specific heat of water Is quite large.

acid is to add acid to water and |
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18 Asserti : -
;:::-‘::mf;l[r\). Thu‘(.urchullum 15 located in the forebrain. |
Son (R): The Cerebellum helps in walking in a straight line

19 Assertion(A): Rings

of cartilage are present 1n the throat. ]
Reason (R): These e iy

nsurc that the air passage does not collapse.

Assertion (A): By decre

ficld produced by a curr
Reason

solenoid

20

asing the number of coils, the magnitude of the magnetc I
ent carrying solenoid will increase.
(R): The magnitude of the ma

gneuc field produced by a current carrying
s dircetly proportional

to the number of turns per unit length of a solenoid.

SECTION - B

Q. no. 21 to 26 are very short answer questions.
21

21 Study the followin

‘ g table. Write the balanced chemical equation for the correct
oplion

Salt Parent Acid | Parent Nature

Base
a) | Ammonium sulphate H->S0:. NHsOH Basic

b) | Ammonium sulphatc H>SO. NILsOl Neutral
¢) | Ammonium sulphale H,SO,4 NHsOH Acidic
d) | Ammonium sulphate H.CO; NH4OH Acidic

5~ What type of respiration takes place in human muscles during vigorous physical
22 exercise? How is it different from the kind of respiration in a yeast cell?

OR

a) Name the specific nutrient that is absorbed in the small intestine and also
reabsorbed by the kidney tubules.

b) How does bile juice help in the process of digestion in human beings?

Why is it not possible 1o reconstruct the whole organism from a fragment in a
complex multicellular organism?

tJ

Explain the feedback mechanism to regulate the action of the hormones with the 2
help of one suitable example.

IJ
th

An object is situated at a distance of /2 from a convex lens of focal length f. What
will be the distance of image from the lens?

J
=y

The diagram shows a network of resistors which is connected to an electric source
through points A and B. Find the resultant resistance of the given combination.

N — BN
< L >
3SR RS R 22 ()

- FJ -
2 -
RS A
" - "I"'.,__.p'\r . —
1A 30 O
OR
5
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: ' of wire carryin
2 Draw the magnenc field lines through and around a single loop mying

clactnie current. X
| : > e case (case a):
5 How will the change 1n direction of current affect the above case ( )

SECTION-C

Q.no. 27 to 33 are short answer questions. \

| ‘ ' - ! ed i . What
‘X', 2 compound of calcium 1s used in whitewashing when dlssnl\*ed in water
1 involved in the reaction.

w1l be your obsen ations? Wnite the chemical equation

Give amy other application of the substance .

; : -nts S tw 3
In the formation of a compound between rwo elements A and B. A loses two

electrons and B zains one electron.

1) Idenufy the elements A and B. . e
hY What s the nuture of bond formed benween A and B? Whart will be the

- . L o)
hemical formula of the compound so formed:

e 06

&) Represent the above formed compound by clectron dot structure.

('Y

Explain the phenomenon of Biological Magnification with the help of an example.
Rahul wanted to obtain an erect image of an object, using a concave muror of focal
wongth 20 em. | | )

(1) What should te the range of distance ol the object from the mirror.

(1) What will be the size and nature of the image formed?
(111) Draw a rav diagram to support your answer in the casc.
S OR
2) How dispersion of light is differcnt from scattering of light? Give an example of

each.
b) List the factors on which the angle of deviation depends.

L

What happens when a narrow beam of .
(1) Monochromartic light passes through (a) a glass slab and (b) a glass prism

(11) White light passes through (a) a glass slab and (b)a glass prism?

Two conductors X and Y of circular cross-section have radii in the ratio of 1:2, 3
length of the conductor in the ratio of 1:3 and resistivity in the ratio of 3:1. Find the
rat1o of their resistances.
a) What is geotropism? Draw a labeled diagram of a potted plant showing positive 3
geotropism and negative geotropism.
b) What 1s Chemotropism? Give an example of chemotroprsm.
OR
a) How do pea plants chhmb up to the other plants or fences by means of tendnls?
Explam
by How 1s the movement of the leaves of Touch-me-not Plant different from the
movemen! of a shoot towards light?
SECTION-D
Q.no. 34 to 36 are long answer questions
3

a

) An orgamic compound A is widely used and has a molecular formula
C:H:O;. This compound reacts with ethanol to form a sweet-smelling
compound B
i) Idenufy the compound A.

©

(& Scanned with OKEN Scanner



1) Write the chemical equation for the reaction between Compound A
and ¢thanol to form compound B.

) How can we get compound A from B? Name the process.

b) An organic compound ‘A" of molecular formula C2HsO on heating with
excess of conc. sulphuric acid gives compound ‘B’ of molecular formula
CaH,.
1) Write a chemical equation for obtaining *B’ from "A".
1) What is the role of conc. sulphuric acid in the above reaction?

OR
a) Give balanced chemical equation for the following reactions.

1) Ethanoic acid from [:thanol
i) Propanc from Propene
1) Sodium Ethoxide from Ethanol

b) An organic compound with molecular formula C2H4+O: produces brisk
effervescence on the addition of sodium carbonate.
)Write the chemical equation for the above recaction.
n)List any two important uscs of the above compound.

a) State the changes that would take place in the human female reproductive system 5
(i) in the uterus when implantation of the embryo has occurred
(11) i the egg is not fertilized.
b) Explain the role of Placenta in humans.
OR
a) What are chromosomes? Explain how in sexually reproducing organisms the
number of chromosomes in the progeny is maintained?
b) List any four methods of contraception used by humans. How does their
use have a direct effect on the health and prosperity of a family?

36 Circuits consisting of just one battery and one load resistance are very simple 1o 5

analyse, but they are not often found in practical applications. Usually, we find
circuits where more than two components are connected in different combinations.
These combinations of resistors put a limit on the current that flows through the
circuit.

After performing the experiments using two different types of circuit arrangements,

the following observations were made using Ohms law. Based on the observations
answer the following questions:

Resistor Used Numbe Voltmeter Ammeter R = V/I
r of reading in Volt reading in (in ohm)
Observ (1) ampere (A)
ation
R1 (a) 0.01 0.01
: ‘ : . 1.0
_!g%\b__l_-._j__ (h) 0.02 0.02 1.0
22 () 0.06 0.03 :
| CASE Il (D) ) 0.08 0.04 %g
Ist combination (e1) 0.03 0.01 .
ol RI and R2 (h) 0.06 (].[)2 .
_CASE 111 | >0
lind @ | oo
combination of (h) (}:{JE_’} nﬁogts D06
RI and R2 o 9.66
| CASE IV
7

e
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a) Which combimation ol resistorns 16 & I represents series nnd ]'h'll-l”l'l

combmation”’

) Plota praph ol 7 versos I by representingt
be the niature of the slope representedn cach cane mentioned above:
¢) Why the measted carrents i U™ Combination s preater than the |
) tdentical bulbs ol the vame rating: were connected m case HEand case IV cireutrts,

In Wlllt h Uilhi IHIHI Uu'l” ]'|nw |I'Ilj',hh'l and wh}f"
¢) How part (b) wiall change b axais ol / and Voare interchanged?
OR
2) Draw the piven digram and mark the poles ol a magnet gaven in the figrure

1/ on X axsand Fon Y oaxis, What wall
]

Ceombimation?

4
.

r
i
!
L]
l_ e . . f— el

b)Y What is meant by mapnetic held?

¢) How 1s the strenpgth of the mapgnetic field around a wire related to the strength
ol the clectric current MNowing in the wire?

d) State the rule used to determine the direction of magnehc licld produced
around a strapht conductor carrying; current. Draw diagram to justily your

AnNsWEl

SECTION - E
.no. 37 (o 39 are case-hased/data-based questions with 2 to 3 short sub-parts.
Internal choice is provided in one of these sub-parts.

Non-metals are highly electronegative in nature. They (end to gain electrons in their 4
valence shell 1o achieve nearest noble gas configuration. Thus, they form anions and
act as pood oxidising agenls. Covalent bond is formed between non- metal and non-
metal.
They react with air or oxygen on heating to form oxides which react with waler to
form acids. Thus. non-metal oxides are acidic in naturc. Non-metals do not reaclt
with dilute acids. This is because they are clectronegative and therefore, cannol
displace hydrogen from acids but they form covalent hydndes when heated with
hydropen
a) What 1s an oxidizing agent?
b) Hydrogen acts as an oxidizing as well as a reducing agent. How will it behave
when 1t 1s made to react with metals and non -metals respectively?
¢) An clement 'X' forms an oxide X, which is a gas uscd in the process of
photosynthesis. Draw the electron dot structure of the gas.

OR
¢) An element "X forms an oxide X>0, which is a universal solvent. Show its

clectron dot structure
Given helow is a schematic dhagram of a cross between sweel pea plants having axial

Nowers (AA) and terminal flowers (an). Study the cross and answer the questions that

fullow:

(3 Scanned with OKEN Scanner



Parents  Axlal

Terminal

-

K‘ﬂ”\ﬂ"tﬁ‘n AJ\

—

I, reneration

Axlal lowered Aa

A Gae the phenotypie tato of the 12 peneration on scelfing of ¥l generation,
Represent it wath the help ofa cross,
L) Give the phienotypre tatio of 12 progeny i Axial Flowers with genotype Aa are
crossed wath tevimmal ow ers with genotype an. Represent it with the help of a cross.
O W hat v pe ol pametes wall be produced from the following genotypes:
W) U'p i (1) BBb

OR
¢) Name and detine Mendel's T that governs the cross between two parents having
one pair ol contrasting, characters.

Mhere are manly three common refractive delects of vision. Nearsightedness 4
Chayopa) makes fceaway objects look blurry. Farsightedness (hypermetropia) makes
nearhy objects look blunry. Presbyopin can make far-away and nearby objects look
Lluny ot distorted.

a) What are the least distinet vision and far point of a normal human cye?

) What type ol lens is required Lo treat o myopic eye?

¢) A\ person s unable to read o book kept at a distance of 30 cm from his eyes. Give

feason. Tlow canat be conected?

R

¢) A purl s unable to read the hoardings of an advertisement on the roadside. What
type ol defect is she sullening from and how it can be corrected?

a B
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